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<pixel hits>
a1

Ratio

0.95

I L ;#*“Eﬁ“;***'*ﬂ.‘iﬁtﬁﬁ*fﬁﬂ' o ++ -----

10 12 3

| mean # PXL Layers with measurement vs eta

<pixel layers>
N w >
N a1 w a1 s 1

=
= Ol

o
o

o+

Rati
=

0.95

? e ?
¥++¢¢¢+*+§¢w+*.??m¢¢*+-*ﬁﬁ?¢“¢¢;¢+ﬁ4+¢$+++¢‘++§+

3

510 12 3

| mean # STRIP hits V|

<strip hits>

—=— DQM_mkFit_TT_baseR3_noSel_ok
—e— DQM_mkFit_TT_base_8iter_noSel_ok
—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

Hs' ;
-1 0 1 2 3

<strip layers>|i
\‘

] AN ———
Bt
UM 2"

-2 -1 0 1 2



	Contents
	Page 1


